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QUESTION 1

What is required of the originating dashboard in order to configure dashboard navigation?

A. At least two widgets that are already configured for widget interaction

B. Autoswitch enabled

C. An Object List widget since it is the only widget that can be used for dashboard navigation
D. At least one widget that provides an output

Correct Answer: D

QUESTION 2

Which two pieces of information can be found in the Cluster Management page of vRealize Operations?
(Choose two.)

A. Cluster Status

B. Virtual IP address

C. Integrated Load Balancer

D. Cluster Role

Correct Answer: AD

Reference: https://pubs.vmware.com/vrealizeoperationsmanager-6/index.jsp?topic=%
2Fcom.vmware.vcom.core.doc%2FGUID-9A8DA5B6-59B6-48B3-B6F4-46931D5230FB.html

QUESTION 3

The inventory tree allows a user to navigate to various topics.

In order to add a management pack, to which topic would a user need to navigate?
A. Administration

B. Environment

C. Alerts

D. Content

Correct Answer: B

Reference: https://blogs.vmware.com/management/2016/06/monitor-your-customized-applications-invrealize-
operations.htmi
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QUESTION 4

Which three methods can be used to create user groups in vRealize Operations? (Choose three.)
A. The import user groups dialog in Access Control

B. The import user groups dialog in Authentication Sources

C. Add groups dialog in Access Control

D. The vRealize Operations product API

E. The import user groups from vSphere dialog

Correct Answer: ABC

Reference: http://pubs.vmware.com/vrealizeoperationsmanager-6/index.jsp?topic=%
2Fcom.vmware.vcom.core.doc%2FGUID-819EDES51-D292-4F32-A057-E58155B33EFF.html

QUESTION 5

An administrator needs to create a new report. He would like to use an existing report as a reference and
make a few changes to save time.

Which method would the administrator use? (Choose the best answer.)

A. Create a new, blank report and select the option to copy all the objects from an existing report

B. Open the existing report and write down a description of all the objects within, then create a blank report and add
objects in one at a time based on the notes

C. Copy the report to his clipboard and paste that object into a new, blank report

D. Use the Clone Template function to clone the existing report where he can make changes that will be saved as a new
report

Correct Answer: D

QUESTION 6

Management packs can be downloaded from solutionexchange.vmware.com. What is the management pack file
extension?

A.ZIP
B. LZH

C.RAR

D. ???
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Correct Answer: D
Reference: https://marketplace-download.vmware.com/resources/74ecfbbab2dc4421b9254e8100202385/

doc/de5b3142c¢7264cddb55df8c27fcddc2a/vRealize%200perations%20Federation%20Management%
20Pack%201.0.pdf

QUESTION 7

VRealize Operations generates an alert that a virtual machine is experiencing higher than expected workload. What
should the user do next to determine how to resolve this issue?

A. Review symptoms in the alert details.

B. Review recommendations in the alert details.
C. Check the Workload badge score.

D. Review the alert description.

Correct Answer: C

Reference: https://pubs.vmware.com/vrealizeoperationsmanager-6/index.jsp?topic=%
2Fcom.vmware.vcom.core.doc%2FGUID-A2D143A3-A1C8-4F46-9FCF-50E59E41B8A7.html

QUESTION 8
View the Exhibit.

Based on the exhibit, which of the below is true about the visibility of this dashboard? (Choose the best

answer.)
Name Description Visible on Home  Shared A Owner Order
NSX-vSphere Universe O v admin 20

A. This dashboard will be visible to vRealize Operations administrators

B. This dashboard will be visible to the user groups to which it has been shared
C. This dashboard will NOT be visible to any user

D. This dashboard will be visible to any user allowed to see NSX objects
Correct Answer: C

Reference https://communities.vmware.com/thread/505687
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QUESTION 9

How can all available views be accessed in vRealize Operations? (Choose the best answer.)
A. From the Reports tab under Content

B. From the Home tab under Views

C. From the Administration tab under Global Settings

D. From the Content tab under Views

Correct Answer: D

Reference https://kb.vmware.com/s/article/2132786

QUESTION 10

A rebalance plan from the Rebalance Container action includes which three pieces of information? (Choose three.)
A. Destination cluster

B. Applications impacted

C. Time the virtual machine was last moved

D. Reason for move

E. Virtual machines to be moved

Correct Answer: ADE

Reference https://docs.vmware.com/en/vRealize-Operations-Manager/6.5/com.vmware.vcom.core.doc/
GUID-92F9F9E0-2D6F-487F-90DE-C5940EE43494.html

QUESTION 11

View the exhibit.
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Alert Definition Workspace
«" 1. Name and Description v
Alert Definition Summary
«" 2. Base Object Type +
Name:  Virtual machine has disk 1/0 latency problem caused by snapshots
" 3. Alent Impact -
Base Object Type: Virtual Machine
Impact:
T — Impact: Health
| Health =
Criticality: Criticality: Symplom Based
| Symptom Based = . Alert Type: Virtualization/Hypervisor: Performance
Alent Type and Subtype:
|Virtualization/Hypervisor: Perfr.:r| - Symptoms
— _ - L Match | Al : of the following symptom sets
Wall Gycie: _ Seif- Virtua Machine
2 [=]
- =] This symptom set is true when:
Cancel Cycle Base object exhibits | Any | | of the following symptoms.
1 L~ -

® 1. vVirtual machine CPU 1/0 wait is at Critical levelx)
@ 2. virtual machine CPU 1/O wait is atimmediatd evelx)

® 3. Virtual machine CPU I/O wait is at warning levelX)

As shown in the exhibit, with a wait Cycle of 2 and a Cancel Cycle of 1, when will the alert be triggered by default?
A. 10 minutes

B. 5 minutes

C. 2 minutes

D. 1 minute

Correct Answer: A

Reference https://virtualg.uk/ive-installed-vrealize-operations-vrops-now-what/

QUESTION 12

Which two view types would display a tabular data set of specific objects in a monitored environment? (Choose two.)
A. Text

B. List

C. Image

D. Distribution

E. Summary

Correct Answer: BE
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Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/6.7/com.vmware.vcom.config.doc/
GUID-6EA000E9-0127-45A3-AF31-322EDCFB9ECS.html

QUESTION 13

View the exhibit.

Current Object Utilization
Cluster Compute Resource

0 Undenutilized Optimal ([

Host System

Based on the Object Utilization widget for a data center referenced in the exhibit, which statement is true?
A. Distributed Resource Scheduler (DRS) is incorrectly configured in three of the clusters.

B. The data center is running low on capacity.

C. The data center has a number of hosts with hardware faults.

D. The data center would benefit from a Rebalance Container action.

Correct Answer: A

QUESTION 14
Which two statements are true about vRealize Operations (VROps) high availability (HA) clusters? (Choose two.)

A. Enabling vROps HA cluster duplicates the data ingested and compresses the data, thereby NOT increasing the
storage requirements.

B. vVROps HA cluster doubles as a disaster recovery solution duplicating data in nodes across data centers.
C. Enabling vROps HA cluster duplicates the data ingested into the system.
D. If two or more nodes are lost in a VROps HA cluster environment, data is permanently lost.

Correct Answer: CD
QUESTION 15
What are three actions that are managed in the Policies section of vRealize Operations? (Choose three.)

A. Modify the CPU demand value in a custom profile
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B. Modify the level above which the Faults badge will be read

C. Determine which resources are included in workload calculations

D. Set the virtual CPU to physical CPU overcommit ratio to use in capacity calculations
E. Enable the calculation of capacity metrics and badges

Correct Answer: CDE
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